BMAZ / Components [ x®&2 : TY-34)2008.02.08
5438 / External View No. Z# / Part name BE / Pcs B / Material - REWHE / Color- Finish
1 by THN- 1 ABSEtlE / ABS AJ{NT V- / White gray
Top cover A Yn-a"%-h / Polycarbonate |8 / Transparent
_ - . 2 |K7+— / Base 1 ABSEiRE / ABS AJ{NT U=/ White gray
*’”‘”‘““'tmg”f it 3 W=7 / Roof 1 B / PVC #24M - / Whife gray
______ i-% L 1Ay b / Gasket L A Y9b3y / Polyurethane 73v) / Black
5 |Zv # / Latch 3 A77Vb% / Stainless steel w38 / Unfinished
® 6 [SMBEMAL A (M5 x 10) 6 K = fl70x-h
Screw(M5 - 10) Steel Trivalent chromate
T (SMERERAT R 6 A3VVA HALI8
______ | / U= y ] Mounting bracket Stainless steel Unfinished
______ | | | < || B |mft~— AL AMS x 10) 6 | = 70N
®\ f Ul il | Screw(M5 - 10) Steel Trivalent chromate
T e o TN NWT—% / Technical Data
. &, . | -
REZML / Protection class IP65
185 2 FEABEHEE / Operafing temperature | -10C ~ +60C
______ WEEME 7 5 A2/ Flammability class UL94HB
35
- \ —g‘ﬁ—-
C
Nn|o | oN o o~ | ——————m] j
LN || 3| T — I ——————— ]I +
C
: 6-M54Y5-hFoh
6-M5 Insert nut
bT1.5 |36.5 BAKEEARED) / Color TypelEnd of product numberd)
= 2% / Code by 7%= / Top cover KT+ — / Base
1~ G "74 7L — / White gray |Kk74 + 7L — / White gray
il N T #EB / Transparent R74 FFL— / White gray
E ae i 2% /Title -
i\ AASLS N FRALE BK BN -7 ABST v ky 23] O L]
593 5 TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF
6-M5{I%-hFyh , : | &8 /Approved | BRE /Checked | M /Created |E&/Product number RE/Scale
6-M5 Insert nut BCAR5060180 11
5 iR 172
fFRE /Date  2018/10/22




1R / Internal View

HKABIZIEIL—DF[FFTOELA,
Drawing does not include roof unit.

L0

KT 1 — (IR

Base (Internal View)

\6-M54Y4-hFyh

630
[ | 1
©
S
m
LN
R
LM
D
m
s}
£
O
>
[gv] —r—
>
\_
#
=
Lilt BEH~T% /Max dim. 576.86

6-M5 Insert nut

AW~T. /Max dim. 476.86

6-M54H-rFyh

6-M5 Insert nut

[ x®&= : TY-34)2008.02.08

H N — (AR)

Cover (Internal View)

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

BHK-BhEENW — 7 fFABST IRy 7 R
IP65 ABS PLASTIC BOX with OUTDOOR ROOF

O

&8 /Approved

12X /Checked

o

8IM /Created

PR

&% /Product number
BCARS5060180

RE /Scale
1:7

AR B /Date 2018/10/22

2/ 2




	BCAR506018 Model (1)
	BCAR506018 Model (2)

